
ДИКТАНТ

4, 8, 5, 3, 9



ДИКТАНТ

4, 8, 5, 3, 9.
9 – 3 = 6



КАРТОЧКА №1

   5   7             6   8
   
   4   5             3   1



КАРТОЧКА №2

                             больше
� 5 больше 4        7 меньше 6

                           

                              меньше
� 4 меньше 6       8 больше 9



КАРТОЧКА №3

  5         7                     3          5
   

  7         9                     4           2



КАРТОЧКА № 4

     5 больше 2

     5             2 

7 меньше 8

7       8



НА СКОЛЬКО БОЛЬШЕ ИЛИ МЕНЬШЕ?

8 – 5 = 3         вывод?



ПРАВИЛО!!!


